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How much information does an observed data set include? (1): the importance of covari
ance for INSAR and other observed data

#00O OO0 [1); 00 00O [2]
# Yukitoshi Fukahata[1]; Yuji Yagi[2]

[l]O00000000;[2l00000OO0OO
[1] Dept. Earth and Planet. Science, Univ. Tokyo; [2] Univ. of Tsukuba

O ABIC (Akaike’s Bayesian Information Criteriot) 0 000 000)00000000000000OOOOOOO
00000O00O0obOO0bOO0bOOoOU0b0 ABICOODODOOOOOOOOODODODOOUODOOOODODODODOOO
oooobdoboooboobooobooboobobooooboobobDoobO0oboobobOoobOobDoobOoooo
ABICOUOUOOOOOODOOODOOOOODOOODOOODOOOODOUODOObOOODODOobObOOobDOoOABICOOOOO
gooooooboboboboooooooooobobobobbobbooooboLDb bbb Lo
gooobooobboooooboboooboooogobobbooooobLb bbb bbbooog

OO000INSARC O SAR) D0 0000000000000 000D0O00O0INSAROOOOOODOOOOODOOO
gobooobooboobooboboooboobooboobobooobooboobooboboOoboDbOoobuoOoboo
goboooboobooboooboobuoobooboobboobobobooboobbOobDbOoobOoobOoo
gooobooboobuoobooboobobbooboobooon

000000 SARODOODOOOODODOOO0OOODOODOO0OO0OO0ODODO0OO0O0OOODODOoOoOoooOooDOoDboO
gooboooboobobouobtoooobboooboboobob bbb booboob o
goboobooboooobbooboobobooboobDboob0ooboobObooboobooboDbuooboo
gobooboobboooboobooboooboboobooboobDboOoobooboobDbboobOoobboOoon
gboooboobooboobooboooboo

000000o00o0Doo0oDo0o0oodoooooog InSAROOODO0OOODOO0OOODOODOOOOOn
gogodoooboboooboboooooooooooboboobooodoooobo bbb bbbosooLD bbb D
gobooboobotboooboobooboobooboobDboobooboobODbooboUbobooDbooboo
gobooobooboobooboooobooboobooboboobooboobooboobDbOoobooboo
gboodboodobooboobuoobuoobooo

gooooooobooo

d=Ha+e

O0000dO0000ab00000000e000000ODODOOO0OHOOOOOODOODODOOOOOOOOO
o0odbo0oboobuoobuoob ebobO0obO0ObOObOUObOODbOO

0000000000000 0 ImSAROOODODOOOOOOODOdODOONONONONOOOOOOOoOoOoOdoOoOd
0000000000 (OO0 e0c)DOOOODOODO

eo=d0-d

gogoobbobbooooobobboboooooooboobo

00000000 00ooooooooOoonD (d=do)y0000o0oo00ooDo000 ad0oooooooog
00000000000 (=0 000000000000 DOOO0DODOO0ODOOO0OOOODOOOOOOOOOOO
Oo0oOooDHDODHOODOOOD

d0 = HOxa0

d0 = Hxa0 + em

0oooboooboob emd

em = (HO - Hxa0

dbdtdembdbOoobooboOobOoobOobOoOoboobooOobOobDOooobLDOo0obOoobOobDOoobOobOoOoDbo
gooboboooobbooobobooooobbboooob bbb oL bbb bbooooL O
gooobbbbdodd ebboobbbbbbooobbbboobbbbbbboboonb b O

gooobOdooOOooOoboooogooOdbooooOdoOooo00obODd0bO0HOODODODODOoOoOOoDOobOoooDOooooo
ooobooooobobobobooob0obobooboobbbooooDoobobbooobOobOoooooboboboo
gooboobooboooobooobooobooboobboobooboobbob0booboobDbOoLobOon
gooooboooboooboobooboboobuooboobobooboobbooboobbooboboobOoo
gogoobbbooooobobobog



